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AREAS OF BOUNDED REGIONS

Section | Solved Mcqs

1. The area bounded by the curves y = |x| - 1 and

y= — |z| + 1lis equal to

AT

B.2


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ctN4dbmWFR8L

C.v/2

D.4

Answer: B

o Watch Video Solution

2. The area bounded by the curve

2
y = [%+2],y_w—1,y_w—1andw—0

above the x-axis will be-(Where [] represents greatest
integer function) (a) 2 (b) 3 (c) 4 (d) none of these

A2

B.3


https://dl.doubtnut.com/l/_ctN4dbmWFR8L
https://dl.doubtnut.com/l/_npX6PHKZNFIU

C. 4

D. none of these

Answer: C

o Watch Video Solution

3. Find the area bounded by y = ze'®l and lines
x| =1,y = 0.

A 4

B.6

C.1

D. 2


https://dl.doubtnut.com/l/_npX6PHKZNFIU
https://dl.doubtnut.com/l/_a1RjOb1o0ezZ

Answer: d

o Watch Video Solution

4. The area bounded by the curves y=Inx, y=In|x|, y=|Inx|

and y=|In||x] is

A5

B.2

C. 4

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_a1RjOb1o0ezZ
https://dl.doubtnut.com/l/_5hfcurqHfgC0

5. Let f(x) be a continuous function such that the area

bounded by the curve y = f(z), the x-axis, and the

2
a
linesx = 0and x = aisl + 7Sin a. Then,

2 8
o2
B. f(a) =1+ 7sina
_ 1
C. f(a) = asina + Scosa

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5hfcurqHfgC0
https://dl.doubtnut.com/l/_76mAL3kyl34l
https://dl.doubtnut.com/l/_WsJahl5ieuzJ

6. Area bounded by [ — 1| < 2 and z® —y* =1, is

A 6+/2 + %ln‘f& +2¢/2|
B.64/2 + %1n‘3 — 2\/5'
C.6y/2 — In|3 + 2¢/2|

D. none of these

Answer: c

o Watch Video Solution

7. Find the area bounded by the curve
f(z) = x 4+ sinz and its inverse function between

the ordinatesz = 0 to = = 2.


https://dl.doubtnut.com/l/_WsJahl5ieuzJ
https://dl.doubtnut.com/l/_GvvpVkjKUWSF

A 4

B. 87

C. 4

D.8

Answer: d

o Watch Video Solution

z—1)(z+1
8. Area bounded by f(x) = ( x)—( 5 ) x-axis and
: 3 . 4 7
ordinates x = 0 and =z = 3 is (A) = (B) A (C) 1 (D)

none


https://dl.doubtnut.com/l/_GvvpVkjKUWSF
https://dl.doubtnut.com/l/_nLX5gwMGPSW8

C.1

D. none of these

Answer: b

o Watch Video Solution

9. If the line z = a divides the area of region

R:{(w,y) €R2:w3§y§w,0§x§1} into two

equal parts, then

A37r
"8



https://dl.doubtnut.com/l/_nLX5gwMGPSW8
https://dl.doubtnut.com/l/_RdUoyexwyumt

o3 |3

Answer: C

o Watch Video Solution

1
10. Let f(z) = max{sinx, cos T, 5}’ then determine
the area of region bounded by the curves y = f(z), X-

axis, Y-axis and x = 2.

5
A.\/i—\/?+1—;

5
|3\/_+£+12

5
c.\/§+\/3+ﬁ


https://dl.doubtnut.com/l/_RdUoyexwyumt
https://dl.doubtnut.com/l/_in1zGaesmHj3

D. none of these

Answer: b

o Watch Video Solution

11. The area bounded by the x-axis, the curve y = f(z),

and the lines = 1, x = b is equal to VR +1—42

forallb > 1, then f(x) is

Ave —1
B.v/x + 1

D.z /2% +1


https://dl.doubtnut.com/l/_in1zGaesmHj3
https://dl.doubtnut.com/l/_x2rPNoKaIOVG

Answer: d

o Watch Video Solution

12. If f(x) >0,V €(0,2) and y = f(x) makes
positive intercepts of 2 and 1 units on X and Y -axes

respectively and encloses an area of 71 unit with axes,

2
then/ zf’ (z)dx is
0

A.

N o


https://dl.doubtnut.com/l/_x2rPNoKaIOVG
https://dl.doubtnut.com/l/_CitrclJYRWWK

Answer: d

o Watch Video Solution

13. If a curve y = a,/x + bx passes through point

(1, 2) and the area bounded by curve, line x = 4 and x-

axis is 8, then : (@) a=3(b) b=3 (c) a= —1 (d)
b= —1

Aa=3b= -1

B.a=3,b=1

Ca= —3,b=1

Da= —3,b= —1


https://dl.doubtnut.com/l/_CitrclJYRWWK
https://dl.doubtnut.com/l/_gxsElx3ZZ48l

Answer: A

o Watch Video Solution

14. If the area enclosed between the curves
y = az’andz = ay*(a > 0) is 1 square unit, then find

the value of a.

1

A —
V3
1

B. —

2

C.1
D1
"3

Answer: A



https://dl.doubtnut.com/l/_gxsElx3ZZ48l
https://dl.doubtnut.com/l/_YioLhQQ6Fxlz

o Watch Video Solution

15. The area of the region bounded by the curuse
y= |z — 2|,z = 1,z = 3 and the x-axis is

A 4

B.2

C.3

D.1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YioLhQQ6Fxlz
https://dl.doubtnut.com/l/_93zq2maMj0XY
https://dl.doubtnut.com/l/_B7yWlzYGkqd1

16. Sketch the region bounded by the curves

y = +/5—2”andy = |z — 1| and find its area.

Answer: c

° Watch Video Solution

17. The area enclosed between the curves

y =« and y = 2z — z? (in square units), is


https://dl.doubtnut.com/l/_B7yWlzYGkqd1
https://dl.doubtnut.com/l/_y5G5pVAkkbAa

N U - e

Answer: B

o Watch Video Solution

18. The area enclosed between the curve

y = log, (z + e) and the coordinate axes is

A4

B.3


https://dl.doubtnut.com/l/_y5G5pVAkkbAa
https://dl.doubtnut.com/l/_b6LBENW0POqw

C.2

D. 1

Answer: D

o Watch Video Solution

19. The parabolas y* = 4zandz® = 4y divide the
square region bounded by the lines x = 4, y = 4 and
the coordinate axes. If S, Sy, S3 are the areas of these
parts numbered from top to bottom, respectively, then
S1:89 =1:1 (b) S5:S53=1:2 5;:5;,=1:1 (d)

51:(81+Sg) =1:2

Al:1:1


https://dl.doubtnut.com/l/_b6LBENW0POqw
https://dl.doubtnut.com/l/_7g8AyOEwlkkF

B.2:1:2

C.1:2:3

D.1:3:2

Answer: a

o Watch Video Solution

20. The area enclosed

y> =z and y = |z| is

1
A.E
1
B.g
2
C.§

between

the

curves


https://dl.doubtnut.com/l/_7g8AyOEwlkkF
https://dl.doubtnut.com/l/_mGQqRgZleVUd

D. 1

Answer: A

o Watch Video Solution

21. The area of the region bounded by the parabola
(y — 2)® = & — 1, the tangent to the parabola at the
point (2,3) and the X-axis is

A3

B.6

C.9

D. 12


https://dl.doubtnut.com/l/_mGQqRgZleVUd
https://dl.doubtnut.com/l/_HjzctsF8X5fv

Answer: C

o Watch Video Solution

22.The area bounded by the curves y=cos x and y=sin x

between the ordinates x=0 and x = 37 /2 s

A 42 -1
B.4y/2 + 1
C.44/2 — 2

D.44/2 + 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HjzctsF8X5fv
https://dl.doubtnut.com/l/_L7LjfWcglOvL

23. Let f:[1,2] — [0,00) be a continuous function

such that f(z) = f(1 —z) for all x € [ —1,2]. Let

2
R, = / z f(x)dz, and Ry be the area of the region
~1

bounded by y = f(x),z = — 1,z = 2 and the x-axis .
Then,

A. R1 = 2R2

B. R1 = 3R2

C.2R, = 3R,

D.3R; = R,
Answer: c



https://dl.doubtnut.com/l/_L7LjfWcglOvL
https://dl.doubtnut.com/l/_VXfxsxcuIDtm

{ ™ Vvvaldil vidaco o>01ution ]

24. If Ry = {(z,y) | y=2x + 7, where z € R and

—H <z < 5} is a relation. Then find the domain and

Range of R;.

= W= N | w

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_VXfxsxcuIDtm
https://dl.doubtnut.com/l/_v7Tuzl7lWfpc
https://dl.doubtnut.com/l/_f0104itTWZZv

25. The area of the region enclosed by the curve

1 . .
y =, = e,y = — and the positive X-axis is
T

No| =

N

=
| ot | w

Answer: C

o Watch Video Solution

26. The area of the region bounded by the curve

y = 3 ,and the lines , y=8 and x=0, is


https://dl.doubtnut.com/l/_f0104itTWZZv
https://dl.doubtnut.com/l/_MUm2U7klLZKt

A.16

B.8

C.10

D. 12

Answer: D

o Watch Video Solution

27. Let S be the area of the region enclosed by

y—e_"’2,y: 0,z = 0and z = 1.Then

>
wn
V]
Q| =

w
n
(AV2
|
Q|


https://dl.doubtnut.com/l/_MUm2U7klLZKt
https://dl.doubtnut.com/l/_18SH8WZVFMdR

Answer: c

o Watch Video Solution

28. The area (in square units) bounded by the curves
y = +/,2y —x + 3 = 0, xaxis, and lying in the first
quadrant is

A.9

B.36

C.18


https://dl.doubtnut.com/l/_18SH8WZVFMdR
https://dl.doubtnut.com/l/_Im4eLNo4fEKg

D.27/4

Answer: A

o Watch Video Solution

29. The area enclosed by the curves

y =sinz + cosz and y = |cosxz — sinz| over the

nterv [0, 7]
interval |0, 5

A4(v2—1)
B.2v/2(v/2 - 1)
C.2(v2+1)
D.2v/2(v2 +1)


https://dl.doubtnut.com/l/_Im4eLNo4fEKg
https://dl.doubtnut.com/l/_s6a8xr6MAEJb

Answer: b

o Watch Video Solution

30. Find the ratio in which the area bounded by the

curves y* = 12zandz® = 12y is divided by the line

Answer: b



https://dl.doubtnut.com/l/_s6a8xr6MAEJb
https://dl.doubtnut.com/l/_vl2zm1OAaccL

o Watch Video Solution

3. The area of the region described by

A:{(m,y):x2+y2§1 and yzgl—w}is

>

N[N Y o3

w
i

+
Wk Wk Wl w|N

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vl2zm1OAaccL
https://dl.doubtnut.com/l/_YXMScVixwGJA
https://dl.doubtnut.com/l/_H1HW4hGg7CDP

32.The area (in square units) of the region bounded by

y? =2z and y =4z — 1,is

Answer: B

° Watch Video Solution

33. Suppose that F'(a) denotes the area of the region

bounded by x=0x =2, y2 = 4x and


https://dl.doubtnut.com/l/_H1HW4hGg7CDP
https://dl.doubtnut.com/l/_xkRreWNo1goa

y = |ox — 1| + |ax — 2| + ax, where «a € {0, 1}.

8v/2
Then the value of F(a) + T\/_ when o = 0 is (A) 4

(B)5(C)6(D)9
A4
B.5
C.6

D.9

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xkRreWNo1goa

34. Suppose that F'(a) denotes the area of the region
bounded by r=02z=21y> =4z and

y = |ax — 1| + |ax — 2| + azx, where o« € {0,1}.

8v/2
Then the value of F(a) + T\/_ when a = 0 is (A) 4

(B) 5(C)6 (D)9
A5
B.6
C.7

D.9

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_Q4lWaLgezGlY

2

22 +
35. Let F(z) = / (2cos®t)dt for all z € R and

< E]

1
f: [O, 5] — [0, 00) be a continuous function.For

1
a < [0, 5]’ if F'(a)+2 is the area of the region
bounded by x=0,y=0,y=f(x) and x=a, then f(0) is
Al
B.2
C.3

D.6

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ObQGSYuPqzVd
https://dl.doubtnut.com/l/_TfejUM6WWoIu

36. The area of the region bounded by the curve C

z +1

x2 +1

LY = nad the line y=1,is

Aml— o T
.m—2n—|—4

B.In2 — — + 1
AN 4

1 T
C.=In2+ ——1

2 4
D.IN2 — = 41
.In —2—|—

Answer: c

o Watch Video Solution

37. The graph of f(z) = z* and g(x) = cz® intersect

at two points, If the area of the region over the interval


https://dl.doubtnut.com/l/_TfejUM6WWoIu
https://dl.doubtnut.com/l/_7KAqMluJOuav

11 . 2 1 1\ .
0, — | is equal to —, then thevalueof | — + — ] is
c 3 c c?

A. 20
B.2
C.6

D. 12

Answer: c

o Watch Video Solution

38. Find the area of the region bounded by the curves
y=z’y= |2 — 332‘, andyl = 2, which lies to the

right of the linexz = 1.


https://dl.doubtnut.com/l/_7KAqMluJOuav
https://dl.doubtnut.com/l/_CaeSsHe5qR7u

12 — 20\/5) ,
sg. units

20 — /2
—\/_> sg. units

20 — 12\/5) ,
sg. units

Answer: C

° Watch Video Solution

39. The area (in sq. units) of the region

{(:c,y):y2 > 2z and 2?2 + y? < 4z, z ZO,yZO} is


https://dl.doubtnut.com/l/_CaeSsHe5qR7u
https://dl.doubtnut.com/l/_QbuTM8J9i9Sx

B.m — 3
42
M=
s 2¢/2
"2 3
Answer: b

o Watch Video Solution

40. If the line x=a bisects the area under the curve

1
y = —2,1§:c < 9,then ais equal to
x

w0 >
Ol oo ©o|n~

N


https://dl.doubtnut.com/l/_QbuTM8J9i9Sx
https://dl.doubtnut.com/l/_joyzqQLv2gQX

Answer: b

o Watch Video Solution

41. The area (in sq. units) of the region described by

A:{(w,y):y2m2—5m—|—4,m—|—y>1,y§0}is


https://dl.doubtnut.com/l/_joyzqQLv2gQX
https://dl.doubtnut.com/l/_GrAw6YafXtAM

Answer: d

o View Text Solution

42. Area of the region

{(w,y) eRy> . /lz+3,by<a+9< 15} is

equal to

>

w|lot N|w WA o=

Answer: c



https://dl.doubtnut.com/l/_GrAw6YafXtAM
https://dl.doubtnut.com/l/_ATVaZ83K1rwV

o Watch Video Solution

43. The area (in sq. units) of the region
{(w,y):w >0,z4+y<322< 4y} and {y§ 1—|—\/E}

is

()
Ne)

—
V]

N
| ot W | w

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_ATVaZ83K1rwV
https://dl.doubtnut.com/l/_WVwCO8NjVGKl

44. If the line =z = o divides the area of region
R = {(.ic,y) cR:2)<y<z 0<z< 1} into two

equal parts, then

A0 < !
. asg

1
B.§<a<1
C.2a* — 40?2 +1=0

D.o’+40> -1=0

Answer: b,c

o Watch Video Solution



https://dl.doubtnut.com/l/_d1KZ4fevWK1L

1. Using integration, find the area bounded by the
curvesy = |z — 1jandy = 3 — |z|.

A2

B.3

C. 4

D. 1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Q9pQuDEa4gZZ

2. The area of the figure bounded by the curves
y =2z +1landz —y—1=0,is

A2/3

B.4/3

C.8/3

D.16/3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_TTURsEnB2hmo

3. Find the area bounded by the curves y = 2z — z?

and the straight liney = — =

A.9/2
B.43/6

C.34/6

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3yvqGv8f57PW

4. The area of the region bounded by the curve
y=|z —1landy = 1lis:

Al

B.2

C.1/2

D.3/2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_t5gYLXdvkX7l

5. The area bounded by the curve y = x|z|, z-axis and
the ordinatesz = — 1&x = 1is:

A.O

B.1/3

C.2/3

D. 1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CSu6MQ1vZpph

6. Area of the region bounded by the curve

2

y=2"y=2zx — 2",z = 0and & = 2is given by

3

log 2 B
3

log 2

_|_
Lol Wl ol |

C. 2log2 —

o

(\V)

[ —

Q

oR
[\)
|

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_yHS5Gu7QGJcZ

7. Area lying in the first quadrant and bounded by the
circle 22 + y? = 4 thelinez = /3y and x-axis , is

A

B.7m/2

Cw/3

D.7 /4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_PcwshhD49cBR

8. AOB is the positive quadrant of the ellipse

22y
—+b—2—1|nwh|ch OA =a,0B =b . Then find

the area between the arc AB and the chord AB of the

ellipse.
1
A. wab(m + 2)
2
1
B. Zab(ﬂ —4)
1

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_T1ACFdxRa5Iq
https://dl.doubtnut.com/l/_xvlkdkRqrAgz

9. Using integration, find the area of the region
bounded by the linex —y+ 2 = 0,thecurvez = /y
and y — axis

A9

B.9/2

C.10/3

D.5/2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xvlkdkRqrAgz

10. The area cut off from a parabola by any double
ordinate is k time the corresponding rectangle
contained by the double ordinate and its distance from
the vertex. Find the value of k ?

A.1/2

B.1/3

C.2/3

D. 1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_0HgsPx0AfLyp
https://dl.doubtnut.com/l/_Z7egf1yHsq3Y

11. Area between the curve y = 4 + 3z — 2 and x-axis
in square units , is

A.125/3

B.125/4

C.125/6

D. 25

Answer: C

° Watch Video Solution

12. If A is the area between the curve y = sinx and x-

axis in the interval [0, 7 /4] , then in the same interval ,


https://dl.doubtnut.com/l/_Z7egf1yHsq3Y
https://dl.doubtnut.com/l/_g5OQ6uLy9Erp

area between the curve y = cosx and x-axis, is

A A

B.wm/2— A

Cl1-—A

D.A-1

Answer: C

o Watch Video Solution

13. If A is the area lying between the curve

y = sinz and x-axis between x=0 and x =7 /2 .


https://dl.doubtnut.com/l/_g5OQ6uLy9Erp
https://dl.doubtnut.com/l/_oJXmmwdwKvzx

Area of the region between the curve

y = sin2x and z-axis in the same interval is given by

AAJ2
B.A
c.24

D.3/2A

Answer: B

o Watch Video Solution

14. The area of the loop between the curve y = asinx

and x-axis is (A) a (B) 2a (C) 3a (D) none of these


https://dl.doubtnut.com/l/_oJXmmwdwKvzx
https://dl.doubtnut.com/l/_BmOVMWJnSVnm

B. 2a

C.3a

D. 4a

Answer: B

o Watch Video Solution

15. Area (in square units) of the region bounded by the

curve y? = 4z, y-axis and the liney = 3, is

A2

B.9/4


https://dl.doubtnut.com/l/_BmOVMWJnSVnm
https://dl.doubtnut.com/l/_4Y68HI84jqlM

C.64/3

D. none of these

Answer: B

o Watch Video Solution

16. If A; is the area of the parabola y* = 4axz lying
between vertex and the latusrectum and A, is the area
between the latusrectum and the double ordinate

T = 2a, then “Lis equal to
2

A22 -1

B.(2v2+1)/7


https://dl.doubtnut.com/l/_4Y68HI84jqlM
https://dl.doubtnut.com/l/_ZGUnUmDTau63

C.(2v2-1)/7

D. none of these

Answer: B

o Watch Video Solution

17. The area of the figure bounded by

y = sinz, y = cos z is the first quardrant is
A.v2(v2-1)
B../3+1

C.2(v/3-1)

D. none of these


https://dl.doubtnut.com/l/_ZGUnUmDTau63
https://dl.doubtnut.com/l/_sRb9308dYxrq

Answer: A

o Watch Video Solution

18. The area  bounded by

y = xe”, y = ze ¥ and the line x=11is

2

A —

e
B.1 — —
e

1

C. —

e
D.1 — —
e

Answer: A

the

curves

o Watch Video Solution



https://dl.doubtnut.com/l/_sRb9308dYxrq
https://dl.doubtnut.com/l/_HcMm42KdkGqD

19. The areas of the figure into which the curve y* = 6z

divides the circle % + y* = 16 are in the ratio

A2
3
B.—47T_\/§
8w + /3
c 4 + /3
8T — /3

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HcMm42KdkGqD
https://dl.doubtnut.com/l/_ZWyWNRs76jcc

20. Find the area (in sq. unit) bounded by the curves :

T

y=¢€e",y=e ” and the straight line x =1.

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BUyXxUVvVW9o

21. The area of the region bounded by the Y — axis

7r
y = cosz and y = sinx Where 0 < z < o> is

A2(yv/2-1)
B.v2—1
C.v24+1
D. /2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ubTSzzAGj05l

22. The positive value of the parmeter 'a' for which the
area of the figure founded by
y=sinas,y=0,z =7 /a and x = 7 /3a is 3, is

equal to

A2

B.1/2

2+ /3

C.
3

D.3/2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uiEpIXdmcqVU
https://dl.doubtnut.com/l/_RCQiUQ4HuHXx

23. The vlaue of m for which the area included between

th curves y* = 4az and y = mz equals, a2/3, is

A2

C.1/2

D.1

Answer: A

° Watch Video Solution

24. Area bounded by the curve y = 22, the z-axis and

the ordinatesz = — 2andx = 1is:


https://dl.doubtnut.com/l/_RCQiUQ4HuHXx
https://dl.doubtnut.com/l/_DI0bqO5fIUMZ

A.17/2
B.15/2
C.15/4

D.17/4

Answer: D

o Watch Video Solution

25. The area bounded by
y=a’y=[r+1,0<z <2 and the yaxis is

where [. | is greatest integer function.

A1/3


https://dl.doubtnut.com/l/_DI0bqO5fIUMZ
https://dl.doubtnut.com/l/_Ed8BLc77d0gG

B.2/3
C.1

D.7/3

Answer: B

o Watch Video Solution

26. Find the area bounded by the x-axis, part of the

8
curve y—(l——2) , and the ordinates at
x

z = 2andx = 4. If the ordinate at £ = a divides the

area into two equal parts, then find a.

A 2./2


https://dl.doubtnut.com/l/_Ed8BLc77d0gG
https://dl.doubtnut.com/l/_IBJ7E0lK4960

B. £2+/2
C.++/2

D.£2

Answer: B

o Watch Video Solution

27. The area bounded by the curve y = f(z) (where
f(z) > 0), the co-ordinate axes & the line z = z; is

given by z;. €”. Therefore f(x) equals


https://dl.doubtnut.com/l/_IBJ7E0lK4960
https://dl.doubtnut.com/l/_VDnKNTcxpoWz

C.xe* — e*

D.ze” + e”

Answer: D

o Watch Video Solution

28. about to only mathematics

Al

B.1.5

C.2

D.3


https://dl.doubtnut.com/l/_VDnKNTcxpoWz
https://dl.doubtnut.com/l/_uiokLwB6gW2L

Answer: C

o Watch Video Solution

29. The area of the triangle formed by the positive
x —afs and the normal and tangent to the circle
w2 +y® =4at (1, \/g) is 24/3squnits (b) 3v/2squnits
v/6squnits (d) none of these

A /3

B.1/+/3

C.2¢/3

D.3./3


https://dl.doubtnut.com/l/_uiokLwB6gW2L
https://dl.doubtnut.com/l/_ceM42NFnGauf

Answer: C

o Watch Video Solution

30. The area of the region for which '0>0'is

3

A./(3 — 2z — mz)daz

1
3

B./(3 — 2 — xz)d:c
C.

(3 — 2 — x2)d:L'

D. (3 — 2x — a:z)dw

\oo o\r—n e

I
—

Answer: C



https://dl.doubtnut.com/l/_ceM42NFnGauf
https://dl.doubtnut.com/l/_RURt9O6trAmu

[ W Watch Video Solution ]

31. The area between the curve y = 2z* — z2, the axis,
and the ordinates of the two minima of the curve is
11/60 sq. units (b) 7/120 sqg. units 1/30 sq. units (d) 7/90
sg. units

A.7/120

B.9/120

C.11/120

D.13/120

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RURt9O6trAmu
https://dl.doubtnut.com/l/_31tzyWaIptvf

32. Find the area bounded by the curve z* = 4y and
the straight linez = 4y — 2.

A.3/8

B.5/8

C.7/8

D.9/8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_31tzyWaIptvf
https://dl.doubtnut.com/l/_LeNupQ0q0CFP

33. The area of the region bounded by the curve
(a*) (¥*) = (2a — z)(z°) is to that of the circle
whose radius is a, is given by the ratio (a) 4:5 (b) 5 8 ()
23(d) 3:2.

A 4:5

B.5:8

C.2:3

D.3:2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HTxqELXVXUW0
https://dl.doubtnut.com/l/_vkBuSHgVlyEk

ZE2 y2

34. The area between ol + W 1 and the straight
ine 2 + ¥ —1is A lmb(B) Zab (0 Wib—“—b
a b 2 2
1
(D) Zab
1
A. Ea,b
1
B. Ewab
1
C. Zab
1 1
Z mab — —ab
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_vkBuSHgVlyEk

35. The area induced between the curves y =

8a?

x?2 + 4a?

A.a2<27ri>
3
B.a2(ﬂ'—£)

3
C.a’(2m + L
.a T —_

3
D. a? 7r—|—4
' 3

Answer: A

Yy = is given by

$2

10 and

o Watch Video Solution



https://dl.doubtnut.com/l/_yS9z5B7Ncpu4

36. The area cut off from a parabola by any double
ordinate is k time the corresponding rectangle
contained by the double ordinate and its distance from
the vertex. Find the value of k ?

A2/3

B.3/2

C.1/3

D.3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_L5uS021GBsDR
https://dl.doubtnut.com/l/_RN85DYKSoV5T

37.Find the area of the region bounded by the curve y

=sin X between x =0 and x = 2.

A 2w

B. 27w

C.4m

Answer: C

o Watch Video Solution

38. about to only mathematics

A.5/6


https://dl.doubtnut.com/l/_RN85DYKSoV5T
https://dl.doubtnut.com/l/_Hhz2XMYRuYXb

B.6/5
C.1/6

D.6

Answer: A

o Watch Video Solution

2 2
39. The area of the ellipse — + yo_ lis
a? b

A. Tab

7

B.
4

(a2 + 1)

C.7(a +b)


https://dl.doubtnut.com/l/_Hhz2XMYRuYXb
https://dl.doubtnut.com/l/_PlSMiSdSg1ZI

D. ra’b?

Answer: A

o Watch Video Solution

40. Smaller area enclosed by the circle z? + y? =4
and thelinez +y = 2is:

A2(m — 2)

B.m— 2

C.2r —1

D.m—1


https://dl.doubtnut.com/l/_PlSMiSdSg1ZI
https://dl.doubtnut.com/l/_sAkAfU4ouTAs

Answer: B

o Watch Video Solution

41. Find the area enclosed by the parabola 4y = 3z
and the line 2y = 3z + 12.

A.16

B. 41

C.27

D. 36

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_sAkAfU4ouTAs
https://dl.doubtnut.com/l/_xaHsnhsImpm2

42. Find the area of the region bounded by the
parabola x® = 4y\ and thelinex = 4y — 2

A.9/8

B.9/4

C.9/2

D.9/7

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xaHsnhsImpm2
https://dl.doubtnut.com/l/_vPnXCiusjBLu

43. Find the area lying in the first quadrant and
bounded by the curve y = > and the line y = 4z

A2

B.3

C. 4

D.5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jZo72va37X0J

44.The area of the region (in square units) bounded by
the curve 22 = 4y and the line x = 2 and z-axis is:

A1l

B.2/3

C.4/3

D.8/3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gfBqecfhYa9O

45. The area bounded by the x-axis and the curve
y =4z —y®> — 3id

A4/3

B.3/4

C.7

D.3/2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_CbabI3SuKEMK

46. Find the area of the region enclosed by the

parabola y? = 4az and the line y = ma-

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OhWZTJLoTKCz

47. The area bounded by y = tanz, y = cot , X-axis

. ™,
|n0§w§§|s

A.log 2
B 11 2
EOg
1
C.2 log | —
V2
D 31 2
.Eog
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HuI7HreTfXDS

48. Area lying between the curves y? =4z and y = 2z
is:

A2/3

B.1/3

C.1/4

D.1/2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dfjlQdJCu4Sk

49, Area common to the circle % + y? = 64 and the

parabola y? = 4z is
16
A= (47 4+ /3)
: —6 (8™ — +/3)
3
16
3 (47‘- o \/3)

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_DdMfeyD7NlH5

50. The area of the figure bounded by |y| = 1 — z* is
in square units,

A2/3

B.4/3

C.8/3

D.—5/3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_c58Lz8VmptNW

51. Find the area of the figure bounded by the
parabolas z = — 2y%, z = 1 — 3y°

A.8/3

B.6/3

C.4/3

D.2/3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_EmgRm59HcATQ

52. The area bounded by y = z|sinz| and x - axis
between x = 0,z = 27 is

A. 2m

B. 3

C. 4w

D. bm

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_n5eSIeiT6wsG

53. Find the area bounded by the curve y = 2z — x2,

and theliney =«
Al1/2
B.1/3
C.1/4

D.1/6

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_IacqLic19mEr

54, Find the area bounded

y=(x—1)(z—2)(z —3) lying

ordinates £ = Qandx = 3.

A.9/4
5 11
!

C.11/2

D.7/4

Answer: B

by the

between

curve

the

o Watch Video Solution



https://dl.doubtnut.com/l/_pv5RF9o1aL9H

55. Area common to the curves y = \/rand z = /Yy is
(A)1(B) — (C) ( ) none of these

A1l

B.2/3

C.1/3

D.4/3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_cgAaNb9CqpVP

56. Find the equation of common tangent of
2 _ 2 _
y° = 4ax and x° = 4by.

A.(8/3) ab

B. (16/3) ab

C.(4/3) ab

D. (5/3) ab

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_X2ONREdf1MHt

57. Area of the region bounded by
[2]* = [y]?, if @ €[1,5], where [ | denotes the
greatest integer function is:

A4

B.8

C.5

D.10

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Ohd1IAdfwfnY

58. If A denotes the area bounded by

sinr + cosx )
, X-axis, x = mand x = 3m,then

f(z) =

X

Al< A<?2

B.O< A <2

C2<A<3

D. none of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GbwEGzgtuNfj

59. Find the area of the region bounded by the curve

y=2z> and y = sec”? [ — sin? ], where [.] denotes

the greatest integer function.
1
A5 (4- m)3/2
3/2
B (8(4 ~ )
8
C.5(4- m)3/2

8
D.§(4—7r)1/2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_H0DVggxUmlOu

60. The area the region included between the region

satisfying min (/z/, /y/) > land z* + 3*> < 5is

5 1O<sml(2) B sin1(1)> 4
E E
C.E<Sm1(2) B sin1(1)> 4
ANRVE V5
o, 15(51111(2) B sin1(1)> .
E E
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vzdj4rrdXYur

61. If f(z) >0, Ve € (0,2) and y = f(x) makes
positive intercepts of 2 and 1 units on X and Y -axes

respectively and encloses an area of 1 unit with axes,

2
then/ zf (z)dx is
0

A3
4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pOZIVD8cd3Cl

Chapter Test

1. Area bounded by the curves y = |x — 1|,y = 0 and
x| =2

A4

B.5

C.3

D.6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pWgGZaUA7j2h

2. The area inside the parabola 5z* —y =0 but
outside the parabola 22> — y + 9 = 0'is

A.12,/3

B.6/3

C.8y/3

D.4,/3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_a5KTjVIRLJEc

3. The area enclosed between the curve

y*(2a — z) = x> and the line x=2a above the x-axis is

A. 3ma?

3mra?
2

3ma?

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PkmIUgX6hZbh

4. Area bounded by the curve zy? = a*(a — z) and
a? . : :
the y-axis is quunits (b) 7ra2squm'ts 37ra2squm'ts

(d) None of these

A.ma’ /2
B. a?

C. 3ma?

D. 2a’

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_1iCpe90wpKYw

5. The area of the loop of the curve ay® = z%(a — z) is

402
15

8 2
.1—50,
16 ,
.1—5a
32 ,

D. ?CL

A

Answer: B

o Watch Video Solution

6. find the area common to the circle z%y® = 16a* and

the parabola y?> = 6az- Or Find the area of the region


https://dl.doubtnut.com/l/_hbV3S8h3WiRi
https://dl.doubtnut.com/l/_3FuIcDgd61Ui

2
A (4m — 3
2
B 4%(%—3)
4q>

D. none of these

Answer: C

o Watch Video Solution

7. The line y = mx bisects the area enclosed by the

curve y =1+ 4z — z* and the lines

3
x =0,z = — and y = 0. Then the value of m is

2


https://dl.doubtnut.com/l/_3FuIcDgd61Ui
https://dl.doubtnut.com/l/_pmlI66BWdvPV

A.13/8
B.13/32
C.13/16

D.13/14

Answer: C

o Watch Video Solution

8. The area between the curve y = z sinx and x-axis

whereo < x < 27, is

A 2w

B.3m


https://dl.doubtnut.com/l/_pmlI66BWdvPV
https://dl.doubtnut.com/l/_dJo0RqiZw9ug

C.4m

Answer: C

o Watch Video Solution

9. The area bounded by the curves y=¢e*,y =€ *

andy = 2,is

A.log (16/e)

B. log(4/e)

C.2log(4/e)

D. log(8/e)


https://dl.doubtnut.com/l/_dJo0RqiZw9ug
https://dl.doubtnut.com/l/_8j98QXmKDQ3I

Answer: C

o Watch Video Solution

10. The area enclosed by the curves

¢ = asin®t and y = acos®t is equal to

3ma?
8

3ma?
16

3mra?
32

D. 3ma’

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8j98QXmKDQ3I
https://dl.doubtnut.com/l/_3vj7enSOzJUC

1. If A is the area enclosed by the curve zy = 1, x-
axis and the ordinates ¢ = 1,z = 2, and A, is the
area enclosed by the curve zy = 1, x-axis and the

ordinates x = 2, x = 4, then

A A =24,
B.A, = 24,
C. A2 — 3A1
D.A; = A,
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3vj7enSOzJUC
https://dl.doubtnut.com/l/_vlWXUmYoCNaq

12. If area bounded by the curve y? = daz and y = max

is a /3, then the value of m, is

Al
B.2

C.3

D. /3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ycHBahJQqP5J

13. The value of a for which the area between the

curves y2 = 4dazx and z? = 4ayis 1 unit is

A /3
B. 4
C.4,/3

D./3/4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_t5Dn3hsEzZLf

14. If the area bounded by the curve y=f(x), x-axis and
the ordinates x=1 and x=b is (b-1) sin(3b+4), then find
f(x).

A (z — 1)cos(3z + 4)

B. sin(3z + 4)

C.sin(3z + 4) + 3(x — 1)

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4O4NQVtZcpW3

15. The area bounded by the curve y = sin 2z, axis and
y=11s

Al

B.1/4

C.w/4

D.wm/4—1/2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_w1C9qZuPGc32

16. The area between
= —2y% and x =1 — 3% is
A4/3
B.3/4
C.3/2

D.2/3

Answer: A

the

curve

° Watch Video Solution



https://dl.doubtnut.com/l/_NTQQ944TfAKi

17. The area between the curves y = cos x, x-axis and

theliney=a + 1, is

A1/2

B.1

C.3

D. 2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_cANmR94fhXCR

18. If the area bounded by the curve y = z® + 1 and
the tangents to it drawn from the origin is A, then the
value of 34 is_ -

A.8/2 sq. units

B.1/3 sqg. units

C.2/3 sq. units

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IJR7qWUcjYJi

19. The positive value of the parmeter 'a' for which the
area of the figure bounded by
y=sinas,y=0,z =7 /a and ¢ = 7 /3a is 3, is

equal to

A2

B.1/2

2+ 4/3
3

D. /3

C.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_JQvQIVkBqqJN
https://dl.doubtnut.com/l/_GsfOCxg5uqU8

20. The area in square units bounded by the curves
y = 23,y = 2 and the ordinates z = 1,z = 2is
A.17/12
B.12/13
C.2/7

D.7/2

Answer: A

° Watch Video Solution

21. The area bounded by the curve y> = z and the

ordinate £ = 36 is divided in the ratio 1:7 by the


https://dl.doubtnut.com/l/_GsfOCxg5uqU8
https://dl.doubtnut.com/l/_FiMu29cajtya

ordinate x=a. Then a=

A.8

B.9

C.7

D.O

Answer: B

o Watch Video Solution

22.The area contained between the x-axis and one area

of the curve y = cos 3z, is

Al1/3


https://dl.doubtnut.com/l/_FiMu29cajtya
https://dl.doubtnut.com/l/_s7R2zirqf2vH

B.2/3
C.2/7

D.2/5

Answer: B

o Watch Video Solution

23. The area of the figure bounded by |y| = 1 — 2% is
in square units,

A4/3

B.8/3

C.16/3


https://dl.doubtnut.com/l/_s7R2zirqf2vH
https://dl.doubtnut.com/l/_IrG6j7rl0vNT

D.5/3

Answer: B

o Watch Video Solution

24. The area of the figure bounded by

T

y=e*"ly=0,2=0and z = 2is

A <2

D. none of these


https://dl.doubtnut.com/l/_IrG6j7rl0vNT
https://dl.doubtnut.com/l/_AvIWPnbaMWox

Answer: B

o Watch Video Solution

25. The area of the region on place bounded by max

1.
(e, lyl) < 5 is

A.1/2+1n2
B.3+ In2
C.31/4

D.1+2In2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_AvIWPnbaMWox
https://dl.doubtnut.com/l/_zG2Wd2euohpX

26. The area of the closed figure bounded by
z? :
y=5 - 2¢ + 2 and the tangents to it at (1,1/2)

and (4,2) is
A.9/8
B.3/8
C.3/2

D.9/4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zG2Wd2euohpX
https://dl.doubtnut.com/l/_UGep8OcNops6
https://dl.doubtnut.com/l/_lKtYZrJzWu1m

27. The area of the closed figure bounded by
y=1/cos’z,z =0,y =0 and = = 7 /4, is

Am/4

B.1+ 7 /4

C.1

D.2

Answer: C

o Watch Video Solution

28. The area (in square units) of the closed figure

bounded by


https://dl.doubtnut.com/l/_lKtYZrJzWu1m
https://dl.doubtnut.com/l/_V5a4AtZMdG1a

—z2+2x<1
x= —1,z=2and y= and the
20 — 1,z > 1
abscissa axis, is
A.16/3
B.13/3
C.13/3
D.7/3
Answer: A
o Watch Video Solution
29. The area bounded by
3 .
y=2—|2—2z| and y = — is:

||


https://dl.doubtnut.com/l/_V5a4AtZMdG1a
https://dl.doubtnut.com/l/_Z9vxuDNhqVXW

4+ 3In3
A ————
2

B. 2+3In(3sqrt(3)/4)

C313
.5 n

1
D.E —i—ln3

Answer: B

o Watch Video Solution

30. The area of the region bounded by

2’ +y* -2z —-3=0and y= |z| +1is

B. 27w


https://dl.doubtnut.com/l/_Z9vxuDNhqVXW
https://dl.doubtnut.com/l/_Szdf5eFDEXvL

C.4m

D.7 /2

Answer: A

o Watch Video Solution

3. The area of the region bounded by

y=|z —1 and y =3 — |z|, is

A2

B.3

C.4

D. 1


https://dl.doubtnut.com/l/_Szdf5eFDEXvL
https://dl.doubtnut.com/l/_1TcpVFAcNCl4

Answer: C

o Watch Video Solution

32. Find the area of the closed figure bounded by the
curvesy = ./x,y = y/4x — 3z, and y = 0.

A4/9

B.8/9

C.19/9

D.5/9

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1TcpVFAcNCl4
https://dl.doubtnut.com/l/_gSDnrrFUcPtS

33. The area of the closed figure bounded by the curves

2
y:cosm,yzl—k;x and x =7 /2, is

T+ 4
4

B 3 — 4
' 4
37

A.

C.

4
5 7
4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gSDnrrFUcPtS
https://dl.doubtnut.com/l/_Ee2pZsmiQhH1

34. For which of the following values of m is the area of
the regions bounded by the curve y = & — 2% and the

9
line y = mx equal 5? —4(b)—-2(c)2(d) 4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mVvYSX9GIkWS

35.The area bound by the curve y = secz, then x-axis

and thelinesx =0 and = = 7 /4, is

A log(ﬂ + 1)
B.log(ﬂ — 1)

Cll 2
. 5 log

D. /2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jsD3l2zqia4Y

36. The area bounded by the parabola y* = 8z, the x-
16 23 32 q 164/2

axis and the latusrectum is b. C

3 3 3 3

L 16
3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_V861QI8Gyb3p

37. The area (in square units) bounded by the curve

y? = 8z and z? = 8y, is

A.'64(3*sqrt(2)-1/3)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Q1iMXOMq7TZZ

38. If the area bounded by the curve y=f(x), x-axis and
the ordinates x=1 and x=b is (b-1) sin(3b+4), then find
f(x).

A.(z — 1)cos(3z + 4)

B. sin(3z + 4)

C.sin(3z + 4) + 3(x — 1)cos(3z + 4)

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JOfXbHynmvzr

39. The area in square units of the region bounded by
the curve 22 = 4y, the line x=2 and the x-axis, is

A1l

B.2/3

C.4/3

D.8/3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_A8sfZm1kE6ev

40. The area enclosed between the curve

y*(2a —z) = 2> and the line z =2 above the

3ra? . 9 - .
squnits 2wa’squnits

z — afs is ma’squnits (b)

(d) 37ra2sqimz'ts

A Ta

B.3/2ma’
C.2ma’

D. 3ma’

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LL65oprsbkTK
https://dl.doubtnut.com/l/_uBjJp9DerMox

41.The area bounded by the curve y = 42 — z* and x-

. 30 . 31 , 32 .
axis is (A) - sg. units (B) — sg. units (C) 3 sg. units

34 .
(D) 3 sg. units

30
7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uBjJp9DerMox

42. Area bounded by the parabola y* = z and the line
2y = x is:

A4/3

B.1

C.2/3

D.1/3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_x40u4KilaA5u

43. Area between the z-axis and the curve y = cos z,

when 0 < x < 2mis:

A.O

B.2

C.3

D.4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_aTnwPEoI3RNb

44. The ratio of the areas between the curves

y =cosx and y = cos 2z and x-axis from =z = 0 to

T _
T = 3 is (A) 1:3(B) 2:1(C) 4/3: 1 (D) none of these

Al:2
B.2:1
C.v/3:1

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xhhfmtU5OeJV

45, Find the area bounded by the parabolay = z? + 1

and the straight linez + y = 3.

w >
3 w o w S
Bleo |y Nl |5

0

o

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GwhIFKF6PVXT

46. Prove that the area common to the two parabolas

Ca g 82
y=2zx"andy =x"+41is 3 sg. units.

0 @ >

o
X w N w |
w|°° °°|L\3 | |

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aBlxOwBbdasO

47. Find the area of

{(z,y):2* +y° <1<z +y}

0

o

Answer: D

the

region

° Watch Video Solution



https://dl.doubtnut.com/l/_69eL3eCtQ0vL

48. Find the area bounded by the parabola y* = 4ax

and its latus rectum.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xJNv5bBS0Pee

49. The area  bounded by the curve

Yy = z* — 223 + 2?2 +3 with xaxis and ordinates

corresponding to the minima of y, is

Al

91
30
30

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Ga3c84CZSCL5

50. Find the area common to two parabolas z* = 4ay

and y? = 4az, using integration.

5
"3

B16a2
"3

32a2
"3

64a°
3

D.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ptkRdDPVNrcL

51. The area (in square units) bounded by curves y=sinx

between the ordinates x=0, x = 7 and the x-axis , is

A2

B.4

C.3

D. 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_75zDWNklvAZq

52. The area of the region bounded by the parabola
(y — 2)® = & — 1, the tangent to the parabola at the
point (2,3) and the X-axis is

A3

B.6

C.7

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sRfcS0Rk2njh

53. The area enclosed between the curves
1 -
y =log, (z +e),x = log, <§),and the x-axis is
A. 2
B.1
C. 4

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HbEvGKfpze8i

54. Find the area of the region formed by

2?2 +y? — 6z —4dy+12< 0,y < z and 2z < 5.

Aﬁ_\/ngl
6 8
g 1y V3+1
6 8
cz—\/g_1
"6 8

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OLktq2ZawdqM

55. If A, be the area bounded by the -curve
y = (tanz)" and the lines =0, y=0, z =7 /4,

then forn > 2.

1
AA,+A, o=
n—1
1
B.A,+ A, 2 <
n—1
1
CA,— A, _»=
n—1

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Y0ClYK25QG7w

56. The area bounded by the parabola y* = z, straight

line y = 4 and y-axis is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Wl05IRiOFVTK

57. The area (in square units), bounded by y = 2 — x>

andz +y=20,is

Azs units
-3 g.

B ) it
5 59. units

C. 9 sg. units

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_es0Az8v18cxO

58. The area bounded by the curve y = log, z, the x-

axis and the line x = e is (A) e sq. units (B) 1 sq. unit

1 , 1 .
(Q) (1 — E) sg. units (D) (1 + E) sg. units

A e

B.1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BoQXuLD47tJb

59. Find the area included between the curves z? = 4y

and y? = 4z.
A4/3
B.1/3
C.16/3

D.8/3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_VBcz1hqDK1uS

60. If the area above the x-axis, bounded by the curves

, then the value

y=2"and x=0,and x= 2 is
log, (2)

of kis

A1/2
B.1
c.—1

D. 2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JxE9vxODYXU6

